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# LP : If triangle ABC 'mila:( to triangle DEF such that 2AB =DE and BC =8

cm . Then find the length ot EF .
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# LP : In the followipg-fidure, E is'a%g“1 produced of aﬁ@@
triangle ABC wit AD | BC and EF L AC, prove that A ABDR"TECF.
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# LP : In given figure, /\FEC=/\GBD and Z1=2 2 then prove that / ADE ~“/\ABC.




# LP : In the figure given below, E is a point on the side AD produced of a
parallelogram ABCD and BE intersects CD at F. Show that A ABE /\CFB.
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# LP : In the figure ABII PQ Il CD , AB = x units , CD = y units and PQ = z units..
Prove that1 + 1+1
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